R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-865 (Sub ID 6622) Masonite FG Opaque (Trilennium)\C - Drawings\TX-4668.69.71.72.dwg, TX-4672

Endura

PERFORMANCE STANDARD

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 Intemnational Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Trilennium)
Door panel details
Horizontal & vertical cross sections
Vertical cross sections
Frame anchoring

oSl |wW N

74" MAX. O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

NN

)

iy
gl

hb
-..'C«

OF T&Ey

3_"\
..

o
R

]

, €

A

N
\

XX INSWING +30.0
PINE
XX OUTSWING +55.0
XX INSWING +30.0
"FusionFrame"
XX OUTSWING +50.0

j
]
,‘.‘-‘-
53
ES o
£* 0
0 ., T 2]
0w oM
2 Z o
[ _im
)
s '(Qo‘”
° = >
Zo9
3 E T
2 4309
D>n
%o'-
om®
O N -
o
(O34
Z R
0o
256
50c¢
Do

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

ENDURA
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS | PART OR ASSEMBLY:
Y

B

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/19/19 |ADD "FusionFrame” OPTION &

1

L
l_.
<
a
o
=
6

OATE: 11,/09/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4672

SHEET 1 oF 6

© 2016 R.W. BUILDING CONSULTANTS INC.



TON| SANVLTINSNOD SNIaTung "M's 9102 @
ZS8LL~d # NOLVMISIORY 40 3LVOIdLLNIO SNOISIAIY :
SHIINIONI TWNOISSIA0¥d 4O Q¥vos SWXIL (WOINNTTHL 3Ly A8 4ivd [ONjwo| | " ©
Joreesarte o suons STIVIIA WOVILSY 3000 _0dl/28I 810Z 0L 31vadn NS NN
SBSEC “1d OOUIPA OFZ X08 O'd \N\wg , 'ABINISSY d0 1dvd | 547 ®_NOUJO  8woljuoisny, aav|61/61/6| | | = 5 Q|3
"ONI ‘SINVLINSNOD ONITING ™~ sl z . 2~
SZTLHYOL# "I'd SVYXIL Y&NAN3 G m 6| w &
‘T'd IPIWIYDSS 4 uopuly :Ag pedndesd sjusuwinoog :1ONA0Nd 318 W 5z &
Jeg 2
£rgv W WOLLOH
aolg, |
bb(( C )....u...w..w 7, -~
PegRRNEC-OE ) 2040,
s\..t.ﬂ. Q.W. ..,...O .»...0\ AN»
S5 g w0Y e .
Pl DA PR in
V.. ety ZOQA...W ..... o N
O LIRS D e i g .=
\ .W\G/ .Wc:.o. 2o ~
Q A ixdg & .
S Mumav‘ AT P « in
%w * m& ..q/ W.W\.Mxﬁl. m
--%w\\m‘w‘wo ey ~
A e . . 89T
o
0
b5
. 3
i H
P RB
. ) -~ ®)
N & o,
— = =
uy w M
in
o o
6 -
o
w [7¢]
> & — 2
& 2 o
Q <
O Q
- ek @)
’ & = =
N L L
o 4 %4
Q < W
4 2 Z<
Q = 2 25
) in < G 5
O « T e S
< « -~
3 &
; / P
i a.
o ]
&
(%]
=
X
.
[a 1
&
oo &N
>
e 2
o~ =
N
(o]
dOl
2
oF
D
= £
=< — <C
5 nAm
(8’4
TI.
v
<
2 =
e - i) =
> 8 ® 3E Z
T 5 o 5 m Z
e :52 = R
> Qe S58 s =
g -3 o 2 k! —
Q — o0 L
p- <8 a< L
£ 0 3 =]
2 = <
£ s =
< =
\ -

72 'BMP'ZL 1L 69°899p-X1\sBUIMeIq - D\(winjuuaju)) anbedD D4 3UOSE (2299 I GNS) §98-¥d - IAL\SU] 40 1da sexa] - G\LNINVINYId BINpUz\SIuaiD\Y



STILE (LVL)

- 1.75" ]

1.6"

35.75" MAX.
PANEL WIDTH

>

STILE (LVL)

1.6"

WOOD LOCK BLOCK
{12" LONG)

/"1 "\ HORIZONTAL CROSS SECTION

3/

95.25" MAX. PANEL HEIGHT

=

ep

4

DOOR PANEL

Masonite
Fiberglass

DOOR SKIN: FIBERGLASS {0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.}

SEE HARDWARE
TABLE

TRILENNIUM
SERIES 3000 MULTIPOINT
LOCKING SYSTEM

i, Trilennium®3000 Series
ndura Multipoint lock (3pt.)

TOP RAIL
(WOOD)

FIBERGLASS
DOOR SKIN

~

. 17" ——

INTERIOR EXTERIOR
FOAMCORE |
\ .
N
BOTTOM RAIL = -
(WOOD COMP.)

-

7“2\ VERTICAL CROSS SECTION

3/

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.859.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

ENDURA

PRODUCT:

DOOR PANEL DETAILS
& GLAZING DETAIL

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/19/19 |ADD "FusionFrame” OPTION &

1

i
<
o)
o
Z
6

DATE: 11/09/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4672

SHEET 3 OF 6

R:\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-865 (Sub ID 6622) Masonite FG Opaque (Trilennium)\C - Drawings\TX-4668.69.71.72.dwg, 3.2

© 2016 R.W. BUILDING CONSULTANTS INE.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-865 (Sub ID 6622) Masonite FG Opaque (Trilennium)\C - Drawings\TX-4668.69.71.72.dwg, 4.2

2 2X FRAMING 2X FRAMING g,
(G>=042) (G >=0.42) -8
6 N6/ e - DRYWALL N _ DRYWALL . g
o \ ; i ' \,< Ex o Www
< , ™ i ™ Su g8 &7
I I BasHeamiNn W EXT. SHEATHING () e g Ed
W11/ 4L ég g 00 gz
1y’ A c hd *_‘g ® 6o
s 2 352 gg
f e il 3>n 8
{ .~ #10X2-1/2" PFH /119 i § ﬁm §g
j L1~ WOOD SCREW i o s oxf .k
H ' ]/4"MAX 1 $ilia 'i'.i‘:, g § o 2 00
- ] 2 2558
sim sPACE - fll v s —{ ™ #10X 3" PFH ¢ 2ot £X
22 14 MAX.— | WOOD SCREW 2 § L
s E - £ gg
i —_— SHIM SPACE 0 E X &4
f s 00) 8
6/ i = DoOR PANEL f DOOR PANEL
X X ™ HEAD: PINE N HEAD: "Fusionframe" (1-PIECE) .
O
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP EQ
(QEBD/PE 650} (QEBD/PE 650) WS
I EXTERIOR INTERIOR EXTERIOR INTERIOR é g ;::r)
(] = EU)
/"2 "\ VERTICAL CROSS SECTION ("3 VERTICAL CROSS SECTION % &8
b \U Outswing shown - inswing also approved \U Outswing shown - inswing also approved o ol &
< 3 o
0 cI
/2 .. ol T
coteeraos (7 7, &S e
’ SHIM SPACE (P SHMSPACE  £yT SHEATHING 8
EXT. SHEATHING JAMB: "FusionFrame” KO
IAME: PINE (1 OR 2-PIECE) 2|
. =N
== e [a I {®)
078" —f=—=| 075" -+ [~} 075" m——— / -1/2" AIOX2-1/2 PFH\? e lal £
) e s sk WOOD SCREW om0 (5
ULTIMATE TRILENNIUM ASTRAGAL 38 %
Lo
(o]
COMPOSITE 25;&?%? ENDURA WEATHERSTRIP 2X FRAMING 59
\ SNAP-ON - ENDURA WEATHERSTRIP (QEBD/PE 650) (G>=0.42) 2|
CAP (QEBD/PE 650) DOOR PANEL : : NN
: N gp
s »
~ % . NBE
“~ - —| <
™ -
] / / ' =
| 0 DRYWALL #10X 2-1/2" PFH SeywaL  |PE11/09/16
#8 X 2-1/2" PFH #8 X 1" PFH SMS LATCH WOOD SCREW ~ #8 X 1" PFH SMS #8 X 2-1/2" PFH scAlE:  N.T.S.
N R S 125 b | s |- WOOD SCREW S HNGE STRIKE PLATE  #8 X 1" PFH NG WOOD SCREW owe, o JK
AMB #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS o e LFS
JAMB / HEAD JAMB / HEAD DRAWING NO.-
! AMB JHEAD — JAMB /"1 "\ HORIZONTAL CROSS SECTION "
PINE FusionFrame FusionFrame’ W Inswing shown - Outswing also approved TX—-4672
(1-PIECE) (2-PIECE) —

© 2016 R.W. BUILDING CONSLLTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-865 (Sub ID 6622) Masonite FG Opaque (TrilenniumN\C - Drawings\TX-4668.69.71.72.dwg, 5.2

\\

EXTERIOR
DOOR PANEL
/

ENDURA

INTERIOR

DOOR SWEEP

/ (DBK-R)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 1"\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

DOOR SWEEP

\\

INTERIOR

EXTERIOR

DOOR PANEL

ENDURA \

[DBK-ZAC)

ENDURA
WEATHERSTRIP
(QEBD/PE 650)

VOO

— _ DOOR PANEL 5:‘-"4.‘_?3 fy
INTERIOR EXTERIOR \ g ;5_3
ENDURA Y/ éw § :
WEATHERSTRIP.  INTERIOR EXTERIOR gpM :
(QEBD/PE 650) ?’ué it
LY 3
\ ?i;g et
Ey3 [ e
DOOR RE S
PANEL

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7”3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION

W Inswing Articulating Threshold

w/ Pin Capture

w Outswing Bump Threshold

w Outswing Bump Threshold

ui
e
S 0
Do o 4
EX o #
5 LBz
nui Owm ]
g Z pa
'™ s W
SO
c o 2
o 0@ 3
v ga §
gl— =T =
2 359 @
251w @
%o'- b
sm® g
& OnN g
o x2
b [) b
z
2 E@g O
2 355 e
o 5Q¢ %
& Dod g
: X °
.
[
o g
E K
3 =
o
o

CERTIFICATE OF REGISTRATION # F-11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

A b NGE] A
L. | * e s ] | | ! | |
| 456 - 456 - 456 | 456 | | 456 |
INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 )} INSWING ADJUSTABLE THRESHOLD 4 MINSWING ADJUSTABLE THRESHOLD 5 )INSWING ADJUSTABLE THRESHOLD
1 LAIL4565 2 ZAI4565FN LAILAA4565 ZAIAA4565FN ZAl4565RDS
& %
] Ry R
! 456" — ] !‘ 456" — l 4.56" - k L———— 4.56"
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g )INSWING ARTICULATING THRESHOLD 9 )INSWING ARTICULATING THRESHOLD 10} /NSWING ARTICULATING THRESHOLD
6 IACL4565 7 IACA565FN IACLAA4565 IACAA4565FN ZACA4565RDS
MAX. DESIGN PRESSURE = 25 PSF MAX. DESIGN PRESSURE = +25 PSF
} ) ) ) ) | 2
1] { i [ i
!_ 4.56" ! I 456" I ! 456" ; ! 4.5¢" f}
17 QUISWING THRESHOLD 12 ) CUISWING THRESHOLD 13 ) QUISWING THRESHOLD 14 )} QUTSWING THRESHOLD
10OBL4565 ZOB4565FN ZOB4565RDS FOB4566

9/19/19 |ADD "FusionFrame” OPTION &

1

REVISIONS

o
<
a
o
z
6

DATE: 11,/09/1

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4672

SHEET 5 oF 6

© zo1s R.W. BUILDING DONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-865 (Sub ID 6622) Masonite FG Opague (Trilennium)\C - Drawings\TX-4668.69.71.72.dwg, 6.2

HEAD ANCHORS:

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.8197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

w

=

S

& &
> 3

I =

2 |2 =

i W

3 2

< o

e L
O o
8 o
S &
o <
0. 0.

0>

% i

Su = #10 X 2-1/2' WOOD SCREW (PINE JAMB)
O 2X FRAMING #10X 3' WOOD SCREW (1-PIECE JAMB)
%’) Lo O " g
) 8 " TYP ) ., (TYP)
L 4 #10 X 2.5" PFH WS
4 - ) } ps
T SEE HINGE I = | /
? Al pEALT - . -~ - g
| P S
3 SEE DETAILL 1 c 8
e = 0.
S s ASTRAGAL STRIKE
DETAIL1  PLATE @ HEAD JAMB
b i — i
o BB N JAMB ANCHORS:
N #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB)
, #10 X 3" WOOD SCREW (1-PIECE JAMB) W\ ,
= s > - #8X 2-1/2" PFH WS
> Ny /
o Ll @
b SEE HINGE ) ol > <
EB DETAILL 2 #8 X 1" PFH wsé:. o2l "= #8 X 3/4" PFH WS
. . "— 4"X 4" HINGE
A\
A\
EE DETAIL2 OR 3
| / > . HINGE DETAIL 1
ER3 * * <
- 3 #8 X 2-1/2" PFH WS
% 7, SILL ANCHORS: e
4 T(Pf\ip : #10 X 2-1/2" PFH WOOD SCREW Al 'j
L Nt S 1/4" X 2-3/4" ELCO OR " é Al ol i
HINGE JAMB FLOOR SUBSTRATE MATERIAL AP N CONCRETE SCREW HEXTTPFHWS <=0 111 *IF=r= #8X 3/4" PFH WS
T———""— CONCRETE {MIN. 3000 PS) "~ 4" X 4" HINGE
WOOD (G >=0.42) FRAME ANCHORING \
XX
JAMB NOTES: % ]
THE PINE OR "Fusionframe" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. ':Og% LHESEOAF%%HORS REQUIRED HINGE DETAIL 2
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. ORD.P. .
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints. 3/16" X 2-3/4" ITW CONCRETE SCREW :
2. Conc:efetchjnchor Iogahoc?stnofedtas 'Mr/?X ONfCEI\ngf;" mu’sf be adjfusted ;o OR ASTRAGAL PIN CAPTURE
mainiain the min. edage aisitance 1o mortar joinis, a Honai concrere ancnors i
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP)
3. Concrete anchor table: ASTRAGAL STRIKE )
-\ p ® l ®
mw . D) . _
TAPCON® 3/16" 1-3/4" 3" 1-1/2 & =
'Tw " Ll 1 tid
apcon® | 14 1-3/4 1-1/2 4
waco e | " ’ 1/2'DIA-HOLE. peray 2 DETAIL 2 DETAIL 3
Outswing Inswing Inswing

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/19/19 |ADD "FusionFrame” OPTION &

1

DATE: 11/09/1

e
<
[
o
Z
6

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY: LFS

DRAWING NO.:
TX—-4672

SHEET 6 oF 6

@ 2016 R.W. BUILDING DONSULTANTS INOC.



